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A#MET—TH 212 208 207 415
BHETZTH 391 400 431 831
A#MET=TH 568 554 686 1,240
AHETUTB 418 389 480 869
BSHET 363 401 455 856
REFIET—T B 380 385 441 826
REABETZ=TH 471 456 517 973
RRAET=TH 637 563 639 1,202
EFET—THB 317 322 348 670
FFET=THB 250 268 282 550
EEET—TB 422 376 458 834
fBET—TH 492 444 525 969
EFSEE—TH 342 338 419 757
EERT=TH 330 309 360 669
EEE—TH 167 167 180 347
EEEZTH 325 303 360 663
HFEEI=TH 442 464 537 1,001
EEEET B 412 427 466 893
BEET—TH 271 280 292 572
BEET=TH 475 418 516 934
BEET=TH 460 515 586 1,101
AEETET B 644 680 792 1,472
WEET—TH 322 317 331 648
WERETZTH 242 216 200 416
HWEET=TH 423 370 326 696
WEATMT B 429 391 472 863
WEETETH 560 492 572 1,064
KFHET—TBE 98 88 104 192
AXFEHZTH 372 348 401 749
KFET=TH 196 174 194 368
HIEET—TH 365 349 371 720
MERTZTH 405 416 466 882
FHREE—TH 183 156 193 349
FHREEZTH 220 187 209 396
FRER=TH 204 173 199 372
FHRE/TUTHB 98 85 80 165
FRERETH 120 90 103 193
AET—TH 319 301 351 652
AET—TH 136 123 143 266
ABET=TH 231 214 230 444
FET—TH 519 515 574 1,089
*RETZTH 742 648 706 1,354
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=AET—TH 343 299 326 625
=AET=TH 308 271 268 539
ZHHET—TH 328 330 389 719
ZHET=TH 242 255 275 530
ZFRET=TH 531 517 613 1,130
ZAETMTH 471 440 510 950
XEET—TH 789 876 950 1,826
XIRETZTH 506 561 588 1,149
TR ET 2,446 2,867 3,008 5,875
NEET—TB 277 301 338 639
FNEETMT B 54 57 65 122
X JII&#T 755 802 887 1,689
XRET—TH 816 863 934 1,797
XEETZTHE 639 722 785 1,507
XRET=TH 739 854 923 1,777
XRETHTB 434 446 513 959
MAET—TH 679 668 594 1,262
EET—TH 912 944 1,007 1,951
EE=TH 940 910 994 1,904
FEETmT B 501 474 541 1,015
#RHS L ET 363 413 487 900
FARTERN) 28,046 28,190 31,197 59,387
i BET 701 787 852 1,639
1 S ET 194 235 241 476
EEHT 467 608 567 1,175
FERT—TH 406 434 417 851
FERT=TH 413 390 487 877
BHERT=TH 657 713 750 1,463
SHERTMNTH 348 411 404 815
1% FRET 371 482 500 982
T BET 190 275 297 572
= HhET 175 234 217 451
izl 707 989 992 1,981
e 289 341 341 682
ILEBT—TH 1,043 1,174 1,167 2,341
\WERT=TH 529 595 660 1,255
R PN ET 287 433 443 876
BREHT 557 778 820 1,598
[L3EET—THB 890 897 1,013 1,910
[LEEET=TH 1,622 1,563 1,835 3,398
[LEET=TH 1,328 1,228 1,486 2,714
T (ENIR#X) 11,174 12,567 13,489 26,056
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/N HHET 298 384 383 767
T HT 197 290 277 567
S EET 557 753 821 1,574
ESJCRRET 306 375 390 765
FYEHT 573 917 948 1,865
T FAT R ET 122 165 196 361
JIALET 249 331 343 674
{8 FLHT 63 92 90 182
B ALET 109 137 140 277
TJIET 786 874 914 1,788
(IRt E) 3,260 4318 4,502 8,820
R R BT 363 486 517 1,003
/Nt BRET 209 292 275 567
i BT 229 276 295 571
FHET 403 485 522 1,007
5 ERET 627 785 886 1,671
INSRF-BT 676 908 919 1,827
FEHT 318 422 409 831
& FLET 204 199 229 428
=iEE—TH 320 354 379 733
BIEEZTH 581 639 676 1,315
FTCREHRX) 3,930 4,846 5,107 9,953
={ZET—TH 745 771 823 1,594
={&ET=TH 526 549 585 1,134
={RET=TH 691 748 818 1,566
SEIZAT 618 676 639 1,315
L hET 289 396 390 786
TR ET 510 546 609 1,155
A EE—TH 417 489 483 972
ARBEE_TH 906 904 1,004 1,908
ARBEE=TH 536 611 559 1,170
ARBEETmTH 526 544 499 1,043
AREETRETH 571 600 595 1,195
R EHE 697 894 912 1,806
L SRET 1,913 2,336 2,432 4,768
A REHET 102 119 132 251
B RET 650 684 799 1,483
$i ERT 473 593 607 1,200
¥E 2 THT 328 396 445 841
1R ET 626 909 955 1,864
ST RHET 1,203 1,333 1,406 2,739
FT(EEHX) 12,327 14,098 14,692 28,790
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5 HET 2,314 2,841 3,000 5,841
1% ZRHET 254 328 349 677
HiFS EHET 592 739 697 1,436
AIFEEAT=T B 171 227 243 470
JIEhET 895 990 1,026 2,016
FE 1T R ET 579 679 757 1,436
T $7HET 1,560 1,886 1,989 3,875
L FrEHET 1,468 1,724 1,768 3,492
INFERHET 1,026 1,117 1,061 2,178
INBARET—TH 144 138 171 309
=il 596 592 534 1,126
e —TB 643 643 658 1,301
JLHHET 990 1,147 1,126 2,273
EIRASEHT 117 139 140 279
St hS BT 327 358 354 712
AFIRET—TH 631 673 772 1,445
AFIRETZTH 587 637 727 1,364
HTRIASHT 385 331 351 682
BHEMT 231 284 301 585
FH(EH#EX) 13,510 15,473 16,024 31,497
TUHSsLET 3,401 3,727 3,715 7,442
THtET—T B 412 464 496 960
MBI =TH 495 479 523 1,002
TTHRMHET=TH 57 66 71 137
ARET—TBH 211 212 194 406
ARBETZTH 616 631 618 1,249
ARET=TH 318 352 346 698
KEB—TBHE 281 277 293 570
KEBTZTH 2 1 1 2
AEHT 36 30 39 69
AEE—TH 179 191 187 378
GREIZTEHE 186 179 211 390
AEEI=TH 154 159 145 304
ARETUTE 243 230 236 466
AEEETRATH 293 272 307 579
5 IET 572 626 454 1,080
THEEHE 437 441 456 897
FEET—TH 65 38 48 86
MEET=TH 278 229 233 462
T (ofettihX) 8,236 8,604 8,573 17,177
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Rt BT#R%E 2,113 2,389 2,366 4,755
HettET—TB 24 18 26 44
WHETZTH 353 363 334 697
HHET=TB 265 281 292 573
BHETET B 121 170 161 331
et BT HE B 1,414 1,648 1,739 3,387
RHETEH 331 335 371 706
=HET—TH 534 603 588 1,191
BB A R 396 485 482 967
BT (st X) 5,551 6,292 6,359 12,651
BT 1,082 1,325 1,379 2,704
T BT 1,779 2,139 2,216 4,355
At X B ET 1,324 1,511 1,636 3,147
T/INHET—THB 416 405 430 835
T/INHETZTH 973 931 897 1,828
T/INHET=THB 447 420 448 868
E/NHET—TH 565 621 644 1,265
F/INHETZTH 658 641 685 1,326
E/INHET=TH 681 712 731 1,443
BERK<FET 742 826 818 1,644
HHET 2,121 2,420 2,517 4,937
ik gl 867 835 957 1,792
mHET—TH 574 673 693 1,366
FRET=TH 656 706 680 1,386
RHET=TH 212 234 244 478
FRRETET B 178 205 192 397
A & <F AT 203 251 275 526
JI| S ET 44 61 57 118
H O ET 867 964 1,081 2,045
RE4RET 254 252 279 531
FE4RET—T B 185 238 246 484
BEiRET—TH 444 533 553 1,086
BEEET=THB 521 564 563 1,127
JII R BT 120 120 146 266
JNRET—TB 475 573 619 1,192
JNRET=THB 394 498 517 1,015
P AR HT 724 646 892 1,538
it (Pt X) 17,506 19,304 20,395 39,699
i BT 236 319 331 650
L ERFHE 177 250 246 496
HFEFHET 797 971 1,049 2,020
B EPHT 199 240 252 492
FTCERHX) 1,409 1,780 1,878 3,658
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XK SHT 1,187 1,287 1,335 2,622
RINKESE—TH 462 472 537 1,009
XINKSHTZTH 420 441 473 914
KINKSET=TH 838 876 854 1,730
L+ XEHT 865 1,085 1,102 2,187
= EHT 206 265 276 541
L+ RBLET 262 312 333 645
B EPHET 117 131 136 267
Eadesliiy) 459 555 559 1,114
T RBLHET 218 302 301 603
/B R ET 148 202 200 402
b 2,962 3472 3,580 7,052
TREBET 1,279 1,508 1,586 3,094
T GKEAHRX) 9,423 10,908 11,272 22,180
TKEHT 215 299 302 601
SRIRET 292 409 393 802
= HHET 706 994 993 1,987
FTOHT 367 518 532 1,050
SiFHET 508 726 744 1,470
75 K =HT 513 683 675 1,358
K=Y 267 335 324 659
B+ FHET 276 374 367 741
FHHHET 98 134 137 271
ZZ = 1,010 1,423 1,382 2,805
S FHET 264 378 343 721
HFHET 399 549 545 1,094
INE R BT 620 785 807 1,592
Nabii)) 556 632 677 1,309
T & B ET 343 460 465 925
EENRET 564 728 753 1,481
T (EmHX) 6,998 9,427 9,439 18,866
K EAHET 688 758 855 1,613
R KHT 1,433 1,876 1,831 3,707
YRR ET 1,536 2,006 2,002 4,008
&R ET 459 639 607 1,246
FETEHT 542 745 777 1,522
HEALET 167 189 210 399
s [ BT 525 706 745 1,451
Rl s HT 1,212 1,556 1,674 3,230
L XREHT 439 572 528 1,100
FH(RHHEX) 7,001 9,047 9,229 18,276
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SERMET 922 1,337 1,362 2,699
HHEHT 582 769 806 1,575
i 2 B HET 244 343 344 687
=RRHET 113 123 117 240
my SHT 370 542 588 1,130
B 5T 166 259 245 504
KATHET 487 660 686 1,346
FT(EHEthX) 2,884 4,033 4,148 8,181
FAJNET R 2R 110 110 103 213
FAINETER 200 269 267 536
FaJIET A | 405 567 581 1,148
FHIETREER 132 186 181 367
HET#T E 406 554 554 1,108
FNETAR R 659 835 827 1,662
FHBTRE 576 856 848 1,704
BT 233 721 1,027 1,029 2,056
A ETFE @ 188 222 255 477
FIETRIE R 52 69 76 145
)BT LR BT 62 94 99 193
)BT FRET 42 70 71 141
fNBET—BH 34 61 49 110
)BT R 146 208 196 404
8 BT RS 295 413 402 815
STCRNIHRER) 4,028 5,541 5,538 11,079
EXTRETHS 351 450 464 914
ELTRET5IH 93 116 113 229
ETRETEE 294 452 456 908
E 1T RET[RZH 1,498 2,008 1,951 3,959
ET RET/NR 394 521 553 1,074
=1 RETKEF 340 509 541 1,050
=+ RETEFR 1,968 2,764 2,731 5,495
ETREI/NE 1,739 2,355 2,383 4,738
ELRETAH 972 1,364 1,350 2,714
ELT RETRE 110 167 167 334
ETRETHZ KRG 84 119 126 245
ELRETLAO 79 104 111 215
ETRETEIR 203 304 289 593
=1 RETFREL 326 364 360 724
FHEXTRHEX) 8,451 11,597 11,595 23,192
& it 143,734 166,025 173,437 339,462




